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7. A car can travel 60km on 4litre of petrol. How far can it travel on 15 litres of petrol.3mks?
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9. A.A car left Kitale at 2240hrs and arrived at
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b. If the distance bet

rs ?Fe next day tow did the journey take. 3mks

&n kitale and Nairobi is 250km find the average speed of the car. 3mks
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10. Solve the following equation .3mks —4 6 5 2 l&v\,l “‘\r
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11. Solve the following simultaneous equation. 3mks % o
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14. The tab}mgw shows a triavel - time table for a vehicle operatmg between town A and D. the

distance between town A and D is 150 km

town Arrival Departure
A 10:00 am
B 10:20am 10:30 am
G 11:30 am 11:15am
o 2:30@Am

a) At what time does the vehicle depart from town A.1mks
L
1O 100 comq
b) How long does the vehicle take to travel from town A to town B.? 2mks

{8 f 268 32‘ S 2.0 vainute)

c) How long did it stayir'\}a@B. 2mks “}
20 50 . 3
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d) What time does the vehicle arrive in town D. 3mks

o 8 20 Py

e) Calculate the average speed for the whole journey.b-mks
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